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(. Objective Questiong
or ;.;‘,‘.‘ y 2

L ! tor each statement -

S.L.un » g i

‘Lol temperyyre 18 fuhrcnhcil.'wgfl
Every measuremeny involves two things = H]
number and 3 unit, T, o

Mass is the Measure of qu

The S.1. unit of time is hour. T n 1 ¢

rh > AP e . ‘” (‘ll A‘;,
¢ arca can be expressed

lengths of two sides
Ans:

as the product of
'Tiu P

U b, (o), (e)  False : (), (d)
2. Fill in the blanks :

(a) The S.I. unit of len
is . S0l

gthis noddem

of time
of mass ig RN Al

(b) Cis the unit of -‘-fu‘-‘\‘)ﬁ.‘ii.«:ﬂ Uyl

(¢) 1 metric tonne = \qqq kg

(d) The zero mark in Celsius thermometer is the

- Q
T e,

(¢) The thermometer used o measure the human

body temperature ig called the g\
thermometer.

WL
The normal temperature of human b
...... AXe...... °C or ARG °F

) Tlile AOARS of an object is measured
with the help of a beam balance.

ody is

........

st (a) metre, second. kilogram (b) temperature
(c) 1000 (d) ice (e) clinical
() 37, 98-6 (g) mass.

3. Match the following columns :

i
lumn A

A Column B

(a) Length of a housing plo\r,(i) Clock

(b) Breadth of a boo },‘(ii) Beam balance

(c) Mass of an apple-__ \,*"biii) Thermometer

(d) Penod of time for study' ' Niv) Meashri}lg tape

(¢) Temperature of a bodygz (v) Graph paper

() Surface area of a leaf ~(vi) Metre ruler
st (@)-(1v), (b)-(vi), (¢)-(ii), (d)-(i),

(€)-(iii), (£)-(v)

7P_Aﬁ§s'iéaﬂ(—)qantities and Measurement -

antity of matter.7q,

¥

4. Seclect the correct alternative

(1) The symbol of degree celsius s

(VC' (my "F
(i) K (iv) “K
(b) 10 mm is cqual to :
(j)/'l cm (i) 1 m
(1) 10 dm (iv) 10 ¢m

(¢) The amount of surface occupied by an object
is called its :
(i) volume (p-irca

(iv) length
(d) A metre ruler is graduated in :

(111) mass

(1) m (i1) c¢cm
(jiy~mm (iv) km

(e) A thermometer is graduated in :
(1) kelvin (ii))C
(i) g (iv) cm
Ans  (a)-(1), (b)-(1), (¢c)-(i1), (d)-(iin), (e)-(1r)
B. Short/Long Answer Questions

I. What is measurement 7 How 1s a measurement
expressed ?

State two characteristics of a unit.
3. Name four basic measurements in our daily life.

What are the S.I. units of (i) mass (ii) length
(iii) time and (iv) temperature ? Write their names
and symbols.

5. Define one metre, the S.I. unit of length. State its
one multiple and one sub multiple.

6. Convert the following quantities as indicated :
(@) 12inch=......... ft
(b 1ft=.....cm
(c)20cm=....... m
dy42m=...... cm
() 02km=...... m
() 02cm=...... mm
(g) lyard= m
wnsi(a) 1 (b) 30448 (¢) 02 (d) 42

() 200 (f) 2 (g) 0
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Ton FiRg gyptern tine tontt of vNAsS is Pound

ngjm\wo\ )
11 Cornvendt the
QU 2600 K9 = 2.9 —
9800 kaz 0.6 metrbe tonne
looo - Ky = [ vrobrue torne
| kg =_L veebrube tonne
v 9500 kq' R X2500 mmebut tonae.

. ., \o%o_, .
;. 2500 l;gsz.—\g etaue tonne oo 4

b 150 kﬁ = _J;S_,.,...,.,q)ul.r\m

fallocoing qrranties ag ndicateq.
ymebone  tonne .

100 ka = | q}uﬁ:cx\
l kta =1 qlubwbug..
(60

1% = )y
Ok@-]_lo_l;?k\SO quinta,

= )b q,ulﬁmﬂ.
. 160 k@“—\-%quintc&
10 Ip =U.G38a ‘\9
Ab = ug3. 5 k@ |
= Yo8.
68 BCI%O.]_S %5 E.'-\\%S t\ooog]
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